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¢ Can alse use L 5 rule

when [limt looks [like 22,
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EXQM ple

Lim ()
x->c" cosec(x) g_

e
as X330 bn(x)-> 0o

as X-&o.*mSQc_(X}-?-tm.
Can use L’Hapi}aﬂ fo Solve Hhis,
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X207 cosec(x) X-30"

= Lim L, 7Sialx). sia(x)
x....?o"' X CQS(X) |
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Lion  S0(R) [ in

xs0t X X-20"  cos (x)

¢ Can we U'H opi 1a
Caleulate lirnits an X ->00
X =8 60 X La(x)
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Exampl e

L gm x 2. . ' e" X = L ;M g .
X = co







(b).

dD
y o = 20 —20-c0s/(b)
_J_g, ~ 0.02! radians / 5

Relationship between D

and

Use PY Hm.gw’as .
N = M2 + (30+R)

D*= (20-s5inP)* + (30+20 —20 ces( 6))2

- D? = (20- sin(e))z + (50~ 20 co,c(G))2



(b) Plug = Wy into +his and
multiply by 9/t

dD

() P'ug 6 =0 lads Hhis aﬂd mulhply
by' dé/dt .

de = (o) (0.021) = © mk.






